Coastal Academy of Hypnotherapy's
Scoring Chart for BOTH Suggestibility & Sexuality

Note: All suggestibility material is based on the work of Dr John Kappas

Q1 + Q2 = COMBINED TOTAL - Horizontal Axis
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SCORING INSTRUCTIONS - Count only YES answers on all Questionnaires

SUGGESTIBILITY: the FIRST 2 questions score 10 points each if answered YES, on both Questionnaires. Each remaining YES scores 5 points.

SEXUALITY: the 1st question ONLY scores 10 points if answered YES, on both Questionnaires. Each remaining YES scores 5 points.
Total each Questionnaire seperately for both the applicable '10' and '5' YES scores.

Add the totals of both Questionnaires to find the COMBINED Total.

Go to Chart to find suggestibility, locating Questionnaire 1's Total on the Vertical axis, and the Combined Total on the Horizontal axis.
Follow chart to where the two Totals INTERSECT to find the client's suggestibility score.
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Examples:
SUGGESTIBILITY Questionnaijres

Q-1's total is 70, Q-2's total is 40, so Combined Total = 110
Intersection point on chart is at 64
Therefore, suggestibility is expressed as a 64% PHYSICAL SUGGESTIBLE.

Examples:

Examples:
. .
Q-1's total is 70, Q-2's total is 40, so Combined Total = 110
Intersection point on chart is at 64

Therefore, suggestibility is expressed as a 64% PHYSICAL SEXUAL.




